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No. |HER |wix 0 st [tk (6 | Noo | BUFE R ik oo | w0 o 2%k 060) | Noo | B3 B (s 6 | 220 o |[95%00 (%)
1 571 |..4.2 13.0 L2l 15718 4.1 12.0 = 41 1 5724 4.4 12,0
2 5/1 4,2 10.5 i 22 5/13| 4.1 11. 5 a3 42 5/24| 4.3 12.0 e
3 5/2 |42 . 12,5 B 23 5141 4.1 12.5 43 5/25] 4.0 10.5 .
4 5/2 4,2 11.5 ) 24 5714 4.2 12.0 il 44 525 1.0 12.0 o8
5 5/3 4.5 | 12,0 25 515 4.4 1.5 | . A5 ] 5/21 .. 4.2 | 12,0
6 5/3 | 4.4 11.5 %4 26 | 5/15| 4.2 10.0 %o 6 | 5/27| 4.3 12,0 —
1 5/4 4.0 13.0__| 5.6 27 5716 4.5 11.5 AT | 5/28] 4.0 13.0
8 5/4 4.0 13.0 ' 28 5716 4.3 11.5 4.7 48 5,28 4.2 11.5 5.9
9 5,6 4.5 12.5 i 29 5,17 4.1 | 1.0 . | 49 | 5720 4.0 12,0 .
10 5/6 | 4.5 - 30 | 517 ] 4.0 120 4.2 50 | 529 4.2 12.5 5.9
e 5/7 4.0 i 31 5718 4.5 12.5 53 51 5301 4.0 11.5 LB
12 5/7 4.0 S 32 5718 | 4.4 12.5 : 52 5/30| 4.2 11.0 )
13 5/8 4.2 |. a7 33 5,20 4.4 1.5 4.9 53 5/31 1 4.3 12,0 4.9
14 5/8 4.2 34 5,20 4 12.0 : 54 5/31 4.2 13.5 :
15 5/9 4.4 A3 35 5/21| 4.5 11.5 | Eg
16 5/9 4.3 : ) 36 521 4,3 13.0 ;
17 5710 4.5 2 5 37 5,221 4.4 12.0 ca e ]
18 | 5710 4.3 2. o4 38 | so22| 4.2 1.5 e
19 5711 4,0 2. 5in .39 5./23 | 4.3 12,0 AT
20 5711 4.1 11.0 S 40 5,23 | 4.1 13.0 :
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UCL= 14. 50

CL= 12,00

3sl= 13. 34

A= 11,84

3sL= 10. 34

LCL= 9. 50
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EAMST A
T DO e | f u |[frulf-u?|f/2f] 2 4 6 8 10 12 14 16
13.75~14. 25| 14.0 ol 4] o o ol | [ 1T 11 1.1
13.25~13. 75| 13.5 1| 3 sl ol 22| | | | |
12. 75~13. 25| 13.0 6 2 12 24 11
12, 25~12.75| 12.5 8 1 8 8 15
11.75~12.25| 12.0 16 0 0 0 30
11.25~11.75| 11.5 13| -1 | -13] 13 24
10. 76~11. 25| 11.0 5| =2 |—10 20 9
10. 25~10. 75| 10.5 3 -8 -9 27 6
9,75~10.25 | 10.0 2| -4 -8 32 Y7/
dt 54 | — | -17| 133| —
BOEHE () = 54 i KA (Max) = 14,50 Ll 3ofili = 13.34
SEF (%) = 11.84 Jie /1Mt (Min) = 9,50 TH3ofii = 10.34
R (o) = 0,50 TR AR (Cp) = 1.667
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MAHEMHE  FO = 30.0 (N /md) BAE | "1 a0 14 sH31A
Tk X Jethit
UCL 4L32 4d— ] e |} —fef— L] e |, —de — L] e [ — e f— L =] = ==l 41,22
+20 39,51 4 — -+ - -1 +---+ -1 += |- =+ =1 + |—
| 1
cL  ssoo 41 | N_L “x‘ ! mg ;:\ — x\j ) - S | N L
7z i; ivf ¥;7 x»,\ﬁ 35. 85
2 246 H —|— +— |—| T+ —|— + |—| T T & += = == 1= |=— ooz [
LCL 30.68 44 —+— | — A= |[—l —=_ - d— == |l —k — == =) "+l = == |1 30. 48
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27
REK R Jestlit
UcL 6.5 44—t— =] == |oort ———f—] —A— |—tf T = |—1 = ——t = |1 6. 61
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O Rm DA
ve. 5.4 H — |1 +~|— -+ +~1d +~—1 4+ 11— += |- + =1 + |—
cr 2o M =T F S 1 F B T4 F )+ =1 B4 46
= \;_ | =T 1 hu\_‘7\:;:;q7/\/_ . 1. 04
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 26 26 27
U 2= (s) = 1. 60 TR E (V) = 4. 46
B E A X B Rs P B[] Rmi& B[]
HCMiE (CL) X= 36.00 Rs= 2.00 Rm=2. 00
P 5 X+ (2. 66Rs) = 41.32 _ _
LHERRFEUCL) | v 770 = 39, 64 RsX3.27 = 6.54 RmX2.57 = 5.14
i — (2. 66Rs) = 30. 68
Tﬁ%ﬂmﬂ@“a)iiLm$:wws B B
SO X B Rs AT AR Rt
i CED) (CL) X= 35.85 Rs= 2.02 Rm= 1.04
IR (UL | XTS5k = A2 RsX3.27 = 6.61 RmX2.57 = 2.67
TR (oL | -6k = 50,48 - -
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B B NO. 25 % he K H5E H71% (JIS A-1108)

— \ e T G s [ A [ 3
S i i 7H i | ek [ 3000 | 37 YT b ORIk
WL O /b | e AF1 UE 5H 1R
I ) . A 38,7 111 151 H)

WAIEWIRE  |FO = 30.0 (N /md) UL ' AF0 14 5431A
o ptheERA | ® m g aar | T | G -
n |4 H H %l 2 %3 3 X Rs Rm i
1| 1 5 1] 36.0 | 36.7 | 36.2 |108.9 |36.3 = 0.7
2 1 5 2] 37.4 | 36.4 | 35.8 |109.6 |36.5 0.2 1.6
30 1 5 3] 39.3 | 37.9 | 39.5 |116.7 |38.9 | 2.4 1.6
4] 1 5 4] 36.5 | 36.7 | 36.2 [109.4 [36.5 | 2.4 0.5
5| 1 5 6| 34.5 | 34.3 | 34.6 |103.4 [34.5 | 2.0 0.3
6| 1 5 7| 34.8 | 33.4 | 351 |103.3 [34.4 | 0.1 1.7
71 1 5 8| 37.6 | 37.7 | 36.3 | 111.6 |37.2 2.8 1.4
8| 1 5 9] 360 | 35.4 | 36.2 1107.6 |35.9 1.3 0.8
9 1 5 10| 33.7 | 33.4 | 33.1 1100.2 |33.4 2.5 0.6
10| 1 5 11| 38.3 | 39.0 | 37.9 |115.2 |38.4 5.0 11
111 1 5 13| 34.6 | 35.1 | 35.9 | 105.6 |35.2 3.9 1.3
12 1 5 14| 37.8 | 37.1 | 36.9 |111.8 |37.3 2.1 0.9
131 1 5 15| 36.7 | 36.5 | 35.5 |108.7 |36.2 11 1.2
14| 1 5 16| 34.0 | 33.4 | 35.0 |102.4 |34.1 2.1 1.6
5] 1 5 17] 35.7 | 37.1 | 37.2 |110.0 |36.7 2.6 1.5
6| 1 5 18] 37.6 | 37.7 | 36.5 |111.8 |37.3 0.6 1.2
17| 1 5 20| 35.1 | 35.0 | 34.5 | 1046 |34.9 2.4 0.6
18] 15 21| 33.1 | 32.3 | 32.0 | 97.4 |32.5 2.4 11
191 1 5 22| 36.0 | 36.5 | 36.7 |109.2 |36.4 3.9 0.7
20 1 5 23] 36.9 | 36.2 | 36.5 |109.6 |36.5 | 0.1 0.7
21| 1 5 24| 348 | 35.3 | 351 |105.2 |35.1 1.4 0.5
22 1 5 25| 35.7 | 36.3 | 35.8 | 107.8 |35.9 0.8 0.6
93 | 1 5 27| 37.2 | 26.8 | 36.2 | 110.2 |36.7 0.8 1.0
24 | 1 5 28| 34.3 | 35.8 | 35.1 |105.2 |35.1 1.6 75
25| 1 5 29| 35.8 | 35.5 | 35.3 | 106.6 |35.5 | 0.4 0.5
26| 15 30| 33.5 | 32.2 | 32.1 97.8 [32.6 | 2.9 .4
271 1 5 31| 36.9 | 38.5 | 38.2 |113.6 |37.9 5.3 1.6
I AT 38.9 ks 32.5 B 967. 9 52. 4 28.2
iR 22 (s) = 1.60 PEMRE (V) = 4.46
FEE A A X P Rs LK R
HCMiE (CL) X= 36.00 Rs= 2.00 Rm= 2. 00
SRR UCL) | § 1 &S e 0 RsX3.27 = 6.54 RnX2.57 = 5.14
e A e X— (2. 66Rs) = 30,68
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S DT X i HL Rs R R BRI
HUCME ) (CL) X= 35.85 Rs= 2.02 Rm= 1.04
SRR (UeL) | § T & S5 = 422 RsX3.27 = 6.6l RmX2.57 = 2.67
o 9 ke X— (2. 66Rs) = 30. 48
THEERIME (LCL) | | & S5 = 5028 - -
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